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} Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.‘

Questions ONE to NINE Choose one response 1 - 4 for each of the parts A-D
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A the colour produced QRSO0
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> Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them careful]y.<

" QUESTION SEVEN
1

Questions ONE to NINE Choose one response 1 -4 for each of the parts A-D

QUESTION ONE 1 2 3 4
carbon dioxide O e :

>

helium

nitrogen

o O

oxygen

atmosphere
core

crust

O O m >

mantle

continental drift
convection currents

radioactive processes
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volcanic eruptions

Polymer (rope)
Polymer (coating)

Polymer (gutter)
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Polymer (bag)

QUESTION TWO 1 2 3 4
QUESTION THREE 1 2 3 4

QUESTION FOUR 1 2 3 4

Olive oil separates from the water.
The mixture is pressed.

Water is added and the mixture is stirred.
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The olives are crushed.

the colour produced
the noble gas used

the thickness of the glass
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the voltage used
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